ACCOUNTING AND FINANCE

Paper- II : Business Statistics
Time : Three Hours M.M. : 100
Part-A (Compulsory)
wrT-21 ( AfFE )
1. Give a main definition of statistics in singular sense.
iferct P vpTa & © F TE uRemn AR |
2. Distinguish between primary and secondary data.
e w4 Rdae wHe @ e S 9a1sd |
3. State the formula of Prof. H. A. Sturges to find out.the class interval.
ot AR S ) @ T . 79, U RS Ly Iared |
4. Find the co-efficient of skewness if diffefence-between two quartiles

is 16, their sum is 35 and median is 24,
ﬁmmﬂwﬂmaﬂmuﬁﬁa@eﬁaﬁmm 16, QM

ST AT 35 T ALAGT 24,8 |
5. If coefficient of correlation between two variable X and Y is 0.3,
their covariance is 9 and\variance of series X is 16. Find out the

standard deviation of Y series. - _
X gar Y 2 e qea-d I 0.3 ¥ T ad welkEru 9 %
o A BRI 6% XY 200 & Wi e s S|

6. If the equation for Y on X is Y=0.653X +21.86, ¢2 =144 and
0,\=16; find the coefficient-of correlation.
A T X X T Y=0.653X +21.86, o, =144 IR ¢, =-16
Ay e oS S bifore | | :

75¢ \,_"Give the formula for converting the Chain Base Index Number to

Fixed Base Index Number.

el m@mﬁﬁmwwﬁiaﬁaﬁmvgml
rite down the additive and multiplicative models of decomposition
of a time series.

m%ﬁtﬁﬁaﬁﬂmﬁ$mn‘mﬁmﬁaﬁamgwmﬁﬂ
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fafq | |
'A’ speaks the truth in 80% cases and ‘B’ speaks the truth in 60% of

O.
the cases. In what percentage of case are they likely to contradict
each other in stating the same fact?
‘&’ 80 Siverd Tealt ¥ W A ¥ R ¥ 60 wfve wened A
mm%nmmwaawmmmwamm
TRl ¥ Tp-gER @ fieg AT .
10. Write down the binomial expansion of (Y-1)'.
(Y-1) &1 fgug fawaR #foe | |
Part-B ( -9 )
11. 60 student took up a test. The marks of those who passed the test are
given below : -
60 B 3 v TR & | AHE BEi B 3 A RAVRIE -
Marks o btained No. of Students |,
4 10 )
5 15
6 10
7 6
- 8 YW
9 . 3
10 1 -
T the average marks of all the 60 students were 5.3 marks, find out
the average matks of the students who falled. |
afe g4 60, BF1 @ IR 3JF 5.3 %ﬁrmv%sa‘ia%s?maaﬁ
o BT | ‘
2. Duringfirstd months of financial year 2014-15, the following changes
| in the ‘price index of share A and share B were recorded. Calculate
coefficient of correlation by a suitable method. |
Ry 9§ 201415 @ GO 9 6 ¥ 379 o TA I T’ B YA
et ¥ Frer TR o R T S R T W
Ui S T |
Changes over the previous month.
T A8 B g F IR
Month | Apr. | May| June| Jul. | Aug. Sept | Oct | Nov [Dec.
ShareA | +2 | +1 | -2 |+ 0 +3 | +3 |+ | -2
Share B | -2 2] +2] 41 0 -1 ]+2]-3 [-2
13. Define regression. Why are (wo regression lines? Under what
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conditions can there be only one regression-line?
YA & GRASE QAT | ARG a5 G <1 a4l A 87
IRRAR 3 act v & o= Y@ & Fadl &7

14. Calculate Seasonal Indices by simple average method from the
following date : '
71 el 9§ wwer s AR g1 andda Edie S Hifoe-

Year | 2010 | 2011 2012 | 2013 | 2014

I 3.5 3.5 3.5 40 4.1

Quarter Il 3.9 41 | 39 46 | 4.4
, - M 3.4 3.7 3.7 3.8 4.2
, 1\% 3.6 4.0 4.2 4.5 A4\4.5
15. If two dice are tossed, what is the probability that the sumof number

showing will be-

, @ 8 (b) more then 87
I} < IR R B W € O s Tl YRS & qEansii o
ar— .
_ (=1) 8 @Fm @) - 8-9, 3% B
Part-C ( HT-®")
Unit-1( 3%181)

16. Simplify the following freqtiency distribution and determine mean,
mode and median. Alsosgive your comments :
fr=fofad snafy RFRUNGT Axeiigd DR A, 9geiP 9UT WD
=g ST | g fewur A ST

X F.
(marks out’g 100) (No. of students)
[ 10-20 _ 5
20-30/ " . 7
30-40 10
Upto 40 24
40-50 52
Above 50 ' 24
50-60 ' 10
60-70 ‘ 0
70-80 5
80-90 - 7
} Or
I16. Nidhi and Vidhi have obtained the marks in 6 subjects -of B.com.
, Final under :

Aty ol Ry R & BT @ it I S 6 Rl F ura R W sl
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17.

18.

1 yoR ¥-

Subject Marks obtained.by
Nidhi Vidhi
ABSTI 78 75
ABSTII 82 78
BA.I 49 55
BA.II 54 >4
EAFMI 50 60
EARMII 65 ol

Find out which girl is more consistent in her studies?
FaTEd b B W BN AU AT iy Gd 87

Unit-II( §15-1)
Differentiate between correlation and regression. Explain the various

method of determining correlation. :

T T YA A WWIWQ\WWH?TW

faferdi & g | |
Or/( 314L.)

From the data given below calciitate weighted Index Number by-

(i) Price Relative method,and |

(ii) Fisher's method

Also prove that Fishers Ideal\formula satisfies the Factor Reversal
Test. : '
Sy 2 T FHH ARG TIPIP—
(1) Feargawd fafer aen
(2) fra @i Y i PIC | |
18 A g A 15 IR P WW?W—WWQ&T
B g I i :
| 2013 Base year 2014 Current year
Price (per unit) Total Total |Quantity |
] Expenditure Expenditure
Article Rs.) - (Rs) (Rs.) (Rs.)
yy 3 150 280 28
B 1 100 120 60
C 2 120 180 32
D 5 150 , 144 | 12
E - 4 160 216 | 18
 Umit-II (3~ L)

What is time series? Explain its components. Describe various
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methods of determining trend in time-series. |
BT S0 TS ? TGP GECDH] P AHSIZY | DI o 3 guAfa [FEiRa
, B 1 faft= Rt 1 9 Aifw |
. Or/( 319aT) _
18. Estimate the number of First divisioners. Second divisioners, Third
divisioners and Failures from the followingdata: e
First division is awarded at 60% or more marks, second division 1s
awarded at 48% or more but less than.60% and third division at 36%

or more but less than 48% and failures who secured less than 36 %
marks.

freT Tl & o S, R AT, g S e srpe R
&Y A1 ST DIRTT | 6 0/ GRIERT a1 S Sid AN TR UIH -0, 48
w1 St g 6 0 wive ¥ &9 3@ o™ R g 29, 36
wRyer o s R 48 IRITE W Y oI AN IX A ST QY SR
¥ T 36 YR BT 3id WIS B U= IRAHe B fHar o &—

Marks No. of students
(out of 75) 12
N0-15 ) 12
15-30 - 20
30-45 - ’ 44
45-60 16
~ Below 75 ‘ 100
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